Answer on Question #63386 - Chemistry - General Chemistry
Question

A solution containing 150 g of lead (llI) nitrate is combined with a solution containing 200 g of
sodium iodide? list the compound and the mass before the reaction and the mass after the
reaction

(SOLVE BY USING STOICHIOMETRY)

Answer:

Pb(NOs); + 2 Nal = Pbl,d + 2 NaNOs
n(Pb(NO3)2)=m(Pb(NO3)2)/M(Pb(NOs),)=150/331=0.453 (mol)
n(Nal) = m(Nal)/M(Nal) = 200/150 = 1.333 (mol)
n(Nal)/2 > N(Pb(NOs);) so we have excess of Nal.

That’s why:

Nafter(Pb(NO3)2) = 0 (mol)

Nafter(Nal) = 1.333-0.453*2 = 0.427 (mol)
Nafter(PbI2) = 0.453 (mol)

Natter(NaNO3) = 2*0.453 = 0.906 (mol)

Mafter(Nal) = M(Nal)*nateer(Nal) = 150%0.427 = 64(g)
Mafter(Pbl2) = M(Pbl2)*Nater(Pbl2) = 461*0.453 = 209(g)

Mafter(NaNO3) = 2*M(NaNO3)*naser(NaNO3) = 2*85*0.453 = 77(g)

Pb(NOs)2 Nal Pbl, NaNOs3
Mbpefore, § 150 200 0 0
Mafter, § 0 64 209 77
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